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char
short ////f/,,f//f/»
/ For characters \
For integers > int wchar_t
J For boolean values I

C++

float

double

For floating-point

values

/1N

long double
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Ty pe Size Range of Values (decimal)
char 1 byte 428 to +127 or 0 10 255
unsigned char 1 byte 0 1to 255
signed char 1 byte —+£28 o +127
i 2 byte resp. -32768 to +32767 resp.
4 byte 2147483648 o +2147483847
unsigned int 2 byte resp. 0 to 65535 resp.
4 byte 0 to 4294967295
short 2 byte 2768 to +32767
unsigned short 2 byte 0 to 65535
long 4 byte 2147483648 10 +2147483647
unsigned long 4 byte 0 to 4294967295
Type Size Range of Lowest Positive Accuracy
Values Value (decimal)
float 4 biytes -3.4E438 1.2E—38 & digits
double 8 bytes -1.7E+308 2.3E—308 15 digits
K
s Panlpy <L 10ng double | 10bytes —1.1E+4932 3.4E—4932 19 digits




Lypin csa0)laio g pde) =—

Iy eyl 1aT3) a0¢,0 Bpézis §l oslaiml (sly
:slas el

int a;
float mynumber;

int Db, c;
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int a=0;
float mynumber=3.67;
int b=2, c=7;

float x(1.875




—lul) =—

2305 1) peis Gy @y Ol siglys o
O 8 Caw @ § (30))) Cuwly Claw jlsds
S0 ¢,8 051>

S oludsl g algl as)lsbs Cglas

s Peanbp el



cs292 9 599 RIP  =—

SP3Es asly syl p(Gin Eeuilgl aS ol sy °
05,0 astaiwl printf @G )l (s uls |

printf (“text & Argument type”, Argument name) ;

SP3Es sl syl p(Gin Eailgl aS ol sl o
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scanf (“Argument type”, &Argument name ) ;
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I;]:—l a=_C
- - b=4294967295

c=69
x=1073741824
y=3.141500

Xx=1.200000
y=3.141500

#include <stdio.h= #include <stdio.h=
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int main(){ int main(){
int a=67; int a=67;
int b=-1; int b=-1:
char c=63; char c=69;

float x=1.2;
double y=3.1415;

printf("a=%d\n",a);
printf("b=%d\n",b);
printff“£=ahx| C);
printf("x=%f\n",x);
printf("y=%f\n",y);
return ©;

exampled4.c: In function ‘main’:
exampled.c:11: warning: format

"%=d"' expects type 'int’,

float x=1.2;
double y=3.1415;

printf({"a=%c\n",a);

printf({"b=%u\n",b);
printf("c=%d\n",c);
printf("x=%d\n",x);
printf("y=%f\n",y);

return ©;

but argument 2 has type 'double’
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#include<stdio.h>
int main() {
int a=0;
printf("please enter a number:\n");
scanf("%sd",&a) ;
printf("a=%d\n",a);
return 0;
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limit.c ¥

#include<stdio.h>

#include<limits.h> // Definition of INT MIN,

int main()

{
printf("Range of types int & unsigned int\n\n");
printf("Type Minimun & Maximum\n");
printf(" --cccccm i eceeaaa e xn™);
printf("int %d S%d \n",INT_MIN,INT_ MAX);
printf("unsignedint %d %u \n",0,UINT MAX);
return 0;

Range of types int & unsigned int

ype Minimun & Maximum

int -2147483648 2147483647
unsignedint @ 4294967295
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“when you program, the compiler is your best friend” ] )
: U gly) =—
When we program, we have to deal with errors
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#1include <stdio.h> CJUE e
int main(){
int m;
int n=44;
printf("m=%d, n=%d\n",m,n);
return(0) ;

}

gcc -Wall main.c

main.c: In function ‘main’:

i ]

main.c:7: warning: ‘m’ 1s used uninitialized 1n this function

gcc main.c e

/a.out T

sk

m = 8785908 and n = 44 car
1S
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oops!: 20086

#include <stdio.h>
int main(){
int a = 20000;
char ¢ = a;

int b = c;
if (a !'= b) // '= means “not equal”
~ printf("oops!: %d!=%d",a,b);
else
: printf("Wow! We have large characters\n");
}//main =3

] 10
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int main()
{
const char NLINE= '\n';
const int MAXINT = 2147483647;
const int N = MAXINT/2;
const float KM PER MI = 1.60934;
const double PI = 3.14159265358979323846;
PI = 5.14159265358979323846;
printf(“sch\tsd\tsd\tsf\t=f\n",NLINE, MAXINT,N,KM PER_MI,PI);
return 0;

main.c: In function ‘main’:

main.c:1@: error: assignment of read-only variable ‘PI’ b
AW padins asliy )y U A5 (5)13500 Sy g0 O ) o cuwl Ligy
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Boolean literals
— true, false

Character literals

Integer literals
— 0,1, 123, -6, 0x34, Oxa3

Floating point literals
— 1.2,13.345, .3, -0.54, 1.2€3

String literals " asdf",
“Thisisatest!”
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int main()

{// prints "Hello,Wo rlid!":
printf("Hello,WSscrld%sc\n",'o"',"'!"):
return 0,

; ello World!

#include =<stdio.h=

int main()

{ // prints "The Millennium ends Dec 31 2000.":
printf("The Millennium ends Dec %d%d%c%d\n",3 ,1 ,' ',62000);
return ©;

}

L e

The Millennium ends Dec 31 2000
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Boolean -

#include =stdio.h=
int main(){
// print the value of a boolean variable
bool flag=true;
printf("flag=%d\n",flag };
flag=false;
printf("flag=%d\n/
}

', flag );

ahmad@ubuntu:~/Courses/ITP% gcc

boolean.c: In function ‘main’:

boolean.c:4: error: ‘bool’ undeclared (first use in this function)
boolean.c:4: error: (Each undeclared identifier is reported only once
boolean.c:4: error: for each func

ahmad@ubuntu:~/Courses/ITP$ g++ boolean.
ahmad@ubuntu:~/Courses/ITPS ./a.out
flag=1

flag=0

c:#ﬂagﬁiﬂb}%chLU>



{

int main()

int varl;

int var2;
varl=20;
var2=varl+l0;
printf("“varl+l0 is %d\n",var2);
return 0;
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int main()

{

char charvarl = 'A';

char charvar2 = '\t';
printf("%c%c",charvarl,charvar2);

charvarl = 'B’';
printf("%c\n",charvarl);
return 0;

Character "2 stored in memory
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Constant Character Constant Value
(ASCI code decimal)
A’ Capital A 65
'a' Lowercase a a7
't Blank 32
.t Dot 46
0’ Digit 0 48
"\OY Terminating null character 0

Newline

Tab
Backspace
Beep sound
Double quote

Single quote

Null character

Question mark
csuRPanlp csSlw Back slash
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#include<stdio.h>

int main() {
char c= ;
prlntf{ c = %c,\t int(c)=%d\n",c, c);
c—
prlntf{ c = %c,\t int(c)=%d\n",c, c);
=
prlntf{ c = %c, int(c)=%d\n",c, c);
=
prlntf{ c = %Cc, int(c)=%d\n",c, c);
return 0;

}

int(c)=65
int(c)=116

, 1nt(c)=9
1, 1nt(c)=33
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#include<stdio.h>
int main(){
printf("\nThis is \t a string\n\t\t"
"with many \"escape\" sequences!'\n");
return(©) ;

}//end mal

a string
with many "escape" sequences!
ahmad@ubuntu:~/MyData/courses/ITP%

a5 (53)1g8 ) by 2)lw) (31 )1 gy asplis

3 Olgic @ «» jl 39 Qs “ easlgd,s
¢, d3(aTw)
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int main()
{
double area, circuit, radius = 1.5;
const double pi = 3.141593;
area = pl1 * radius * radius;
circult = 2 * pi * radius;
printf("To Evaluate a Circle\n\n"
"Radius: %f\n"
"Circumference: %f\n"
"Area: %f\n",radius,circult,area);
return 0;

To Evaluate a Circle

Radius: 1.500000
Circumference: 9.424779
Area: 7.068584
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int main()

{// test operators +,-,%*,/,and %:
int m=54;
int n=20:
printf("m = %d end n = %d \n",m,n);
printf(“"m+n = %d \n",m+n);
printf("m-n = %d \n",m-n); m= 54 end n
printf("m*n = %d \n",m*n); mn = 74
printf("m/n = %d \n",m/n); m-n = 34
printf("m%scn = %d \n",'%',m%n); L
return 0; m/n =

14

m%n

b ganp el
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#include<stdio.h>

int main(){
int num=5;
float num=5.1;
printf("num=%d\tnum=%Tt",num,num) ;
return(@) ;

ahmad@ubuntu:~/MyData/courses/ITP$ gcc exampleld.c

exampleld4.c: In function ‘main’:

exampleld4.c:4: error: conflicting types for ‘num’

exampleld4.c:3: note: previous definition of ‘num’ was here

exampleld4.c:5: warning: format ‘%d’ expects type ‘int’, but argument 2 has type
‘double’

. _ i . - .
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#include <stdio.h=>
int main(){
int m,n;
m = 88;
n = ++m:;
printf("m=%d, n=%d\n",m, n);
m = 88;
n = Mm++;
printf("m=%d, n=%d\n",m, n);
return 0O;
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